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CAUHOI
Bài 5: (1,0 điểm)
a) Cho x 
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0. Chứng minh rằng 
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b) Cho các số thực x, y, z  không âm thỏa mãn 
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Chứng minh: 
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	a) Ta có 
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Vì  
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b) Theo câu a ta có:  
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Từ (1), (2), (3) suy ra:
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Vậy 
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Dấu đẳng thức xảy ra khi 


[image: image17.wmf]2

2

2

3

0

3

2

0,

2

3

0

3

0,

2

2

3

3

0

0,

2

2

3

xx

xyz

yy

yxz

zz

zxy

xyz

ì

æö

-=

ï

ç÷

é

èø

ï

===

ê

ï

ê

æö

ï

-=

ï

ç÷

ê

Û===

í

èø

ê

ï

ê

æö

ï

-=

ê

===

ç÷

ï

èø

ê

ë

ï

++=

ï

î


	0,25

0,25
0,25

0,25


_1524307834.unknown

_1524307846.unknown

_1524308082.unknown

_1549822337.unknown

_1524307854.unknown

_1524307845.unknown

_1524300577.unknown

_1524300764.unknown

_1524300895.unknown

_1524300659.unknown

_1524300699.unknown

_1524300461.unknown

_1524300360.unknown

_1524300377.unknown

